20252 H

SRR EICHTPEKLE

(A/ (A+B) %100)

L - R AR RIRLERE | PR R
SRS (A) 165
SEE HAEHLRAR (B) 14
o (S 0. 000 0. 000 92. 179
ey 1
SRS (A) 54
ESTE ee) HATALL R A% (B) 90
Hi g ESEA
. s CaAN 0. 000 0. 000 37.500
MR D
SRS (A) 3 206
HMHH HATAL R A% (B) 20
TR % -
e a0 100. 000 0. 000 91. 150
T
ALY EL RS (A) 10
EBHE EEHSRH (B) 95
(S 0. 000 0. 000 29. 630
ALY EL RS (A) 6 166
HMHHE A EHHE (B) 39
WAL %
O A o 100. 000 0. 000 80.976
=t AL A
WAL RS (A) 33
LWHH HATHS LA R (B) 72
L =24 0
a0 0. 000 0. 000 31.429
fEtbrL
WAL F RS (A) 10 159
HIHE HALHLRHE (B) 71
WAL %
o A o 100. 000 0. 000 69. 130
CELT
WAL RS (A) 12
ESuE e} HATHS LA R (B) 87
W) CASEiN 0. 000 0. 000 32.558
LR EH (A) 30 161
EaGE e ALY (B) 55
WAL %
S a0 100. 000 0. 000 74.537
Bl PR T
LB (A) 64
ESuE e} HATHL LA S (B) 85
AL % o
— a0 0. 000 0. 000 12.953
ShaN
LR EH (A) 10 95
HMHHE HALLFHEL (B) 2 125
WL %
e A ) a100) 83.333 0. 000 43,182
RS
WL (A) 25
SEHE M YRR (B) 33
s CASEN 0. 000 0. 000 13.103
WL (A) 56 60
HMHHE HATHS LA R (B) 20 25
T 5
WAL %
I P TR 73.684 0. 000 70. 588
SRR (A) 5 21
ESiE e AL R H %L (B) 6 20
SRR % 45. 455 0. 000 51.220




